Maisonette in Santa Lucia



Reference No: 240011145-210

Santa Lucia, South



€420,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 215

P☐ Bedrooms: 3

Maisonette - For Sale - Santa Lucia

St.Lucia - Available for sale is this Ground floor Maisonette situated in the village core of this upcoming locality .This strictly ground floor property enjoys two separate and independent entrances as well a vast front patio with drive in facilities. The squarish internal layout comprises of a large living /dining space with a separate adjacent kitchen and front balcony ,main bathroom ,spare toilet ,3 double bedrooms and a convenient box room. Further complimenting this property is a large 55sqm back yard very ideal for entertainment. Property is sold partly furnished and Freehold. Contact agent for further details.

Features

Ceramic Floor

Rooms

Kitchen: 3.8 x 3.35 m (12.73 m2)

✓ Living/Dining: 3.8 x 6.45 m (24.51 m2)

Double Bedroom: 3.37 x 3.65 m (12.3 m2)

Double Bedroom: 4.67 x 3.68 m (17.19 m2)

Double Bedroom : 3.7 x 4.89 m (18.09 m2)

✓ Bathroom : 3.42 x 1.98 m (6.77 m2)

Guest Toilet: 1.29 x 1.57 m (2.03 m2)

Open Space : 4.1 x 1.76 m (7.22 m2)

Open Space : 6.49 x 3.33 m (21.61 m2)

Open Space : 12.9 x 1.59 m (20.51 m2)

Open Space : 11.26 x 4.8 m (54.05 m2)

Hallway: 4.6 x 1.48 m (6.81 m2)

Hallway: 4.63 x 2.02 m (9.35 m2)

Gallery



















Robert Fava RE/MAX Premium - St Julian's

M: 79001575

E: rfava@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta